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= 34,944
i 912,439
TALZ M4 2EHEH] IR 30,000 18,000 12,000
402 QIZEXE0|M 30,000 18,000 12,000
01 QX=X 30,000 18,000 12,000
OZAMB M4 SBHEYI(4.5H7) K&
2,000,000 *30CH*50/100 30,000
FEEX +¢ 40,000 0 40,000
206 THZ=HI 40,000 0 40,000
01 M=z 4l 40,000 0 40,000
OFEc sk ¢ 1,250& x32,000kg 40,000
FTACHHI S &HB S M 1D 700,000 0 700,000
2 350,000
i 350,000
402 SIZ2HX =0l 700,000 0 700,000
s 350,000
= 350,000
01 QX=X 700,000 0 700,000
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AN dEEsS L
BE: B4 AW Y (SYHSLL/5Y - 5E)
ool AR AR M4 EE (9l &2)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OUHZRAE LSME MAAL A
700,000,000 * 170 2 700,000
Fas 350,000
i 350,000
ZAZ ML DA EHK =4 420,000 0 420,000
402 RIZEXEO0IA 420,000 0 420,000
01 QR=Ex 420,000 0 420,000
OXZASMA JIAHSHX =4
150,000,000 *4 I & XI*70/100 420,000
e= =Nl S PO S e = PN R 14,000 0 14,000
= 7,000
= 7,000
301 ptsaazg 14,000 0 14,000
= 7,000
= 7,000
12 JIEt2 &3 14,000 0 14,000
OFel M Zeiz 10,0002 *1,400E 14,000
= 7,000
[ 7,000
e HZE 2eHH(SH8EXE) 33,383 0 33,383
& 9,944
= 23,439
301 ptsazg 33,383 0 33,383
= 9,944
= 23,439
12 JIEt2 &3 33,383 0 33,383
OF=el ME2eH 83,456,0002 *40/100 33,383
< 9,944
i 23,439
HEel HZH U XN2(2IEEHXH) 60,000 0 60,000
& 18,000
= 42,000
402 QI2EE01M 60,000 0 60,000
= 18,000
= 42,000
01 Q2= x 60,000 0 60,000
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14,600

300
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21+365

40,000

300,000
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